$47 2AmRANY F TR Tk BRET o
g

103 8 & % =

\‘e

AFRFLNRALR WP RA TP BT RER PR
§&~g?§%&§’éwﬁﬁz?’%;i%ﬁéo
3 s S ﬁ%@ﬂﬁ?\
(—)@%i+f£m%%% EATA o
() REAMGARIMEFSFEEDREBE 2 -
IR N+ i

(-) » g R
[~ - BREEEE  ARRAFLEESFREF

L= B R EF | A
P LR 2000 ~
FEN % E 1000 =~
52t i 800 =
P Yok 600 ~
EE g PE G R 500 =~
) His 7 £ pE 500 ~

2 B M2 2RAMENE R EFERT S FRSS

Wﬂ E s
§ -t (ER) 600 ~| 300 % rx e
% -~z & (BE%) 300 ~ 200 7~ g 2 g
Fr 7 2 % (9%) 200 =~ 100 7|2t — 4p 3 RFgg -

3~ ¢ i

U>“**ﬁ%ﬂﬁf%%§%” EEEL > G RE Y R o FF AR
VA o BEEY - o A BRAPMED 2 2D A I Kb RGT
P oyE ER A Y S

-1-




(2) BE3de 2! e 6 #7 tfEF  FREETEFR 2
#%%m»*ﬁ?@% $’®%W”W4£@$%Aﬁﬁawﬁﬂ
PRZEREY 8 o (FEEP T Mgi - BRI G
R e AP

(3) ‘?E' ;‘3-5‘34 p;.pé;}r;g#ﬁ a;i@u_} iﬁiﬁiﬁ , %’E f—?ﬁ%e‘ ;%—, — A g ;:FL
- A EEA o
(4) HBF2 AL pAfF204 > - B B p FasAd § &

EH LAY G o R AR 0 B FA Y o
(=) RAWFRE D CLFRILEF D KT L R B R
ié\w%g 13/5;:7 %% ,jélf—";l.%?:(_% o
I~ F2 g R p w

b E & i d
o R EE (5;;?’]%—; ) ;jmm;\
2 % EE EE &
$- 7 500 1000 3000
¥ - % 300 800 2000
%=z 4 200 500 1500
PN X 300 1000
D~ HEF T R o
P % . s W?‘ RERES
ERRE L Gp s | AR
e X i & i & i &
¥- ot 1500 2500 5000
¥ - 2 1200 2000 4000
¥z 1000 1500 3000
F -~ L % 1000 2000
ST
h Ay b ,Tig—xétﬁxgpt%;;@]gg
B ‘ R AEJ kS
ERUFE | GGmo o) | 3eRRE
e # 4 i & # &
¥- & 2000 2500 8000
¥- o 1500 2000 5000
$= 4 1000 1500 4000
N % 1000 2000




4~#%§ﬁﬁﬁﬁﬁﬂé
(1) “dpg FF 3 FAefhd st b ip A SR F > & - Lopa 1000
;l»‘?‘ﬁ:émav# s 500 =~ o
(2) F=n v FHB - - = o
MO
OdeZ g FRPTT Z CH O RFRRE S - L BELEERES - Lo
PEMREFZ Lo

@ — v et hF BRSO 7 FEATRRE

@defte 2B F AT O RAT U o AR Bl e
@y o ipaie (oo™ ) EE /2905 -

OF - T - P FROGF— X (ded g - TR 5 Bt oo R

H-F )

(2) 352 EFH AR
i > SRR

i o ¢ B bR s 3

54
54 100 300 500 1000
¥opT / / 1000 2000

s f',';-v‘; FJ Kk
(=) MERE§ -
(z) *RRERELEAE -

FI0E APRESAEERFRE  IRERTER S BIER



